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( PART -1 J:I..-? )

12 'ﬂ'l'l'"l l:l any SIX (6) questions : . .HI.I AL =y [6}{:.-[1!( L
fine exponential equation and give an example, -én}ff.f:r!i_g,;d-lﬂ.-*.ju_! (1)
(i) Solve : m-%r :: S (i)
(iii) Solve the given equalion using quadratic formula : 2V Il il mfenmads (i)
\ 2 «;lzf'r?:
(iv)  Evaluate : (1-w+a)® et (V)

, - x=2¢aN &} vt -ma S etesndZ g7 V)

(v) Using synthetic dnmun show that x - 2 is a factorof * ¥ +x* = 7x 42
mac | éua.l:{,.nd;n:;.u;;ujuf:::rj (v1)
{v1) Write the quadratic equation having roots : 0,-3 . -
(vn) ﬂ:ﬁnt proportion ._¢",‘_'..i'fJ.,.-ﬂ't7 (vn)

Eebrw P ved awE 2 wa s /i (viid)
' v
(viil) If we 5 and w=2 when v= 3, then find w.
: o ; 2
_ (ix) Find a third proportional to : a --b’.a-b s Epr g G

12 3. Write short answers (o any SIX (6) questions : : ...-il.i ;’ L =i (6){41’ -

(i) Define improper fraction with an example. o JewE s PSS g D

X440 partial fraction. 2L Bezd 200 (i)

{1#4““7’} into partial fraction. &= f 47 LU~ (r—8)(x42

Gi) If-X=¢ . ¥=2 thenfind X0 ¥, = e+ X in¥=Z"« X=¢ Zv Gib)
“u

(2a+5,3)=(7.b- 41)'4:#1:;.:
©{v)

(11} Resolve

(iv) Find gandd.if (2a+5.3)-(7.b-4)

(v) Ifset M has S elements. thmﬁnd- the

(v1) Define a bijective fungtic Iirer\l (vi}
. m f J..n.--'r!d.! ".?JJ'!J .f..ur"‘-..)l-....fl.- (vir)
(vi1)  The mafi{s'ohde !. g alh:qm_tics_mﬂs follows, caiculate the arithmetic mean:
. 1 . 'E' ’JJH"-‘FJ* | . - l * ‘ 2 2 ’ !
) “Hh ;_,,,_,J-, 45 | au (74 ] | 58 | jf_E 63 | 49 |

(viii) Find the modal size of shoes c“{ ’Frhmju A Seyss ﬁ“f—#""r-"d’ e s (vinl)

for the following dat2 : cogp 4,.4,5,5,6,6,6,7,7,5.7.5,8,8,8.6.5.6.5.7
(1x) _I;;:tim median and write 1ts formula. .-éi,'r‘jnlé_&’ fu}h—: (1x)
12 4. +"mlnr'rin.- short answers to any SIX (6) questions : e =42 AL oy (ﬁ}.(r_Jf A4
(1) LumcrtjjT’T radians (o deerees ™ ..;.J.r.,.hg; ¥i Py, 3% (1)
(11} P Find 't ", when ¢ = 52em . 9=45° 0-=45° ¢ = 52(!‘&_.‘}&}# rt (o)
(2124
(2)

WWWFRIE S mLA Fn c=Bem Mb=1Scm 2= 17em ot AABC i1 Giil) 554
4 (ii1) “Ina AABC .a=17cm.b=15cm andc=8cm  find mZ A

(iv) Define diameter of a circle. vy S MLy (iv)
(v) Define sccant of a circle, -.";E'...:Ejﬂ-d'd‘ il (V)
(vi) Define circumference of the circle. Z wJele Dy (vi)
(vil) Define central angle of a circle. -ﬁ_EfJQ.JIJJJffﬁr_Fh (vin)
(viii) , Define circum circle. oLy }J...-—-..fv (vm]
(ix) The length of each side of & -é' r:""'.lml’._ﬂ..;.('] JHJ&D L. i,afj
"' regular octagon is 3 cm. Measure its penml:l-:r
WWW. Fg( P ART - w
Note ; Attempt THIIEI:“:S -ﬁﬁuﬂa llruf J ....-)
But question N 'l
4 ;

p JEL T T s ZES et (9) S

um.'.-ufilx 2 =llx=6=0 b~ | :Jffﬁ-,-_ff‘fvu_'-f;{ai ()
(b) Solve by using svnthetic division if - | is the root of the

equation 4x' - x* —1lx-6=0

F 2
4 ac+cetea ﬂg]’“ P 3 a_c v«
= bd +df < /b [WJ f.‘{_’i,_,ﬁ (a,b.c.d.e,f20) T " f S0 6
6. ) IF2_€£_¢ “ac+ce+ea ace }
ﬁ__d”_.fa(nbc,dtf#ﬂ}ﬂ!cnﬁhuwﬂ'mt odedl + o [E}
4 (b) Resolve into partial fractions oy ;k"yf;r’d::-'! (L)
(x*+1)(x+3) . '
4 B={23,57)4A-(1,3,579}.U={1,23,4,56,7,89,10: /1 ()) .7
(ANBY = A UB SEJ b7
7. (@) HU={1,2,3,4,56.7.8910),A=(1.3.5 7.9)and B={2,3,57}
then verify (ABY=AUB

1 Eere e i RSP LLo# g (L)

(b)  'The marks of six students in Mathematics are given, dcl:nmnl: variance.

'iludcntr"‘...-u lF'l‘ 34516
’ Marks i/ ]?ﬂilﬂlw 80 | 42

4 8. (a) Verify theidentity : cos'@—sin®0 =cos?@-sind . : Zatfely () m
4 FGSTUD' &S o i ﬁ}ﬂdl—q_r‘? 5 A (@
20 0

(b) * About a circle of radius 3.5 cm. descnbe ar

8 'T-d..-:r
9. Prove that twchu:ds

"'4"' S L

AL e wrl f:_,CuI:,.-#TM.ﬂ'.:,. I At A
. ﬂm mlltsmm-scgm:m of a circle are equal.



